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Answer any FIVE FULL Questions g T

1 (a) |Apply Backtracking method to solve sum of subset problem for the instance d=30, 10 |COS5| L3
S={5,10,12,15,18}.Give all possible solution with state space tree construction

2 (a) [Draw the state space tree to generate solutions to 4-queen’s problem 5 CO5| L2
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2 (b)

Construct the heap for the list 50 25 30 75 100 45 80 using top down approach
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A message consisting of the characters given in the table below has to be
transmitted over a network in the secured manner

Character A M R -
Probability 0.4 0.2 0.3 0.1
a)Construct the Huffman Tree

Label:Left(0),Right(1)).

for the following characters (Branch

b)Derive the Huffman code for the given characters.
c)Decode the text whose encoding is 1000101
d)Encode the text RAMA RAMAR

10

CO4

L3




Slep \s ﬂrmnae the keys n aAcmAfna ordes of thelr 'Pwobab'\likal?rwuwad

o | o] os [ oou]

A B D C

o wwéhud: the tree -

frep % ﬂmmﬂe in a.swnzifna, prden o.aa'lvt

03 [ 08 | poul
*| D C

0.6

) 0




(i) Chayacker (od e
R 0
10\
R H
8 \D D
Cui 10001 0l
- A ™

J. 100010y = _AM

[
v
L

- K
Y
\

X

o P
o<
o>

\

a—

S o RAMA -RAMAR =S 110101010DHIDIDIOH

4 |Apply the memory function method to solve the following instance of the 10 |CO4| L3
Knapsack problem with capacity M=5
Item Weight Value
1 2 12
2 1 10
3 3 20
4 2 10
5(a) |Apply the greedy method to obtain optimal solution to the knapsack problem given 5 CO3| L3

M=60.




W=1{5,10,20,30,40}
P=1{30,20,100,90,60}

Find the total profit earned.
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(b) [Write the algorithm of Counting Sort.Sort the following numbers using the same. 5 CO3| L2
10,1,0,2,5,6.
6 |Apply the branch and bound to solve the instance of 0/1 knapsack problem 10 |COS5| L3

Item 1 2 4
Weight 4 7 3
Profit $40 $42 $25 $12
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